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PART - A (General Intelligence & Reasoning)

QNo:1  [f+=--=%* %=/ [=4then,
whatis6+ (4%2)-3/1?

qﬁ'q.:-.-:*'*:f,,"-:"';a}r
6+(4*2)-3/1=ME?

‘

Q.No: 2 If South-East becomes MNorth, then what will North-East become?

g ZTEo-gd, 3R =9 91, df I9=-Ud &1 5 SIg?
South

fgyor

West

ufgm

South-West

SR ugE

Q.No: 3 If A is the brother of B, and B is the mother of C, how is A related to C?

AR A BHRTWS B, CHIATE, a1 A C T T T 27
Grandfather

algl
Unclel

EIEN
Father

forar
Brother

LIES
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Q.No: 4 Three of the following four pairs have the same relationship between their elements as in the case of the pair BRIGHT : 24 and hence
form a group. Which one does not belong to the group?

FrfeifeEa ar gt d & 9 & adi & 9 a8t 999 g 1 BRIGHT : 24 g5 & Al § g 3R 39iaY 3 ush 99g 941 81 i 91 g 34
g § Tefda 781 8?7

SHARP : 20

SHARP : 20
Quick : 20

Quick : 20
BRAINY : 24

BRAINY : 24

Q.No: 5| A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order at the right
end.

Based on the pattern, answer the questions that follow the given input.
Input: Volcano 37 19 Ash 50 Smoke 90 Dust 28
Question: What is the sequence of numbers in Step 1?7

Teh 2ea- 3R-Fen e AT welies =Ru1 | Ues fafe o &1 ure &3 gy Ry T $qe i et a7t 31 39 Fram | ads ma
o guinTe & SUR 9a99 BI¢ 972 &l G99 918 AR R e U § g4 921 Wl ol 9= 212 3R o S it g1 9g wiskar a9
Teh TR T@T g ofd o feh Tt 2reg I 37X IUTATAT 6F | 3T Tt T <1E ofR oraiig! %A A eqafaa A gl =i |
2 U o oNYR WR, iU 1Y e & =1e o aret vl & I9x Sifergl
FAYE: SATATET 37 19 I 50 34T 90 4 28
TS TROT 1| § HEAT3i &l ohF 1 87

19 28 37 50 90

1928 3750 90
8050372819

8050372819
5037 281990

5037281990
905037 28 19

90 50372819

QNo:6 A bag has 4 red and 6 blue balls. What is the probability of drawing a red ball?
U et | 4 @1 3R 6 el 3¢ &1 @1 fig Fena 2l WiidehdT =1 87

0.3

0.3
0.5

0.5
0.6

0.6

Q.No: 7 In each question below, two pairs of letters are given. The first pair has a specific relationship between its letters. [dentify the
relationship and choose the correct option that completes the second pair in the same way.
AD:CF:tEH:?
1 féy g udier u # arsl & & @A [AY T &1 Ugd g o 918l & 19 U fafie day g1 ddy uganfAg ofk 39 Gt [daey & 9g
oy St gm T i off 38T TR IR e B
AD:CF:IEH:?

HJ

HJ
1K

1K
Fl

Fl
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QNo:8  Complete the following series: C, E, H, L, Q, ?

FefofEa gEam A @@ ¢, E H, L, Q, ?

‘

QNo:9 In a certain language: FLOW = GMRZ Then what is the code for WOLF?

g fAfsa vmar & FLOW = GMRZ df WOLF < foig =nte @ &2
ZRNG

ZRNG

Z0MG

20MG
ZNMG

ZNMG

Q.No: 10 What number will be present in place of the question mark?: 5, 24, 61, 122, 217, ?
uHaras g & TIF 0 & O 9 gt 5, 24, 61, 122, 217, ?
331

331
340

340
342

342
550
330

QNo: 11 Complete the following series: HQMR, IRLQ, JSKP, KTJO, ?

FfeilEa sjae &l ger &hd: HQMR, IRLQ, JSKP, KTJO, ?

MUJN

MUJN
LuJO

LUJO
MUIO

MUIO

Q.No: 12 | In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. |dentify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
23145 : 45367 :: 41235 : ?

F=fofe@a v vy & gt ded § 178 & &t ue Fifeja aifdhe a1 sienfOidta e &1 araq st 81 39t e & ugae fife ot g
Tits & I U 9 T o folg 99T qanT fiferg | &g e et # @ wgl faeeen gt
23145 : 45367 :: 41235: ?

62457

62457
6345/
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63257

63257
54376

54376

QNo: 13 | If + means -, + means +, - means x, and x means *, then,
whatis 15-4+6+ 12?2
e+ RAF-F, +m AT+ 8, -FT AT x &, sfRx wranf + g, af
15-4+6+ 12 8?7

60

60
56

56
54
54
58
58

Q.No: 14 Given the situation below, which of the following is the most responsible course of action for you?
While driving, you witness a minor fender bender in a parking lot. One car, which appears to be at fault, quickly drives away without
stopping. The other car's driver is still in their vehicle, looking shaken and surveying the damage.

ggt &t 7 fefa &t 3 gu, onuds forg wad Afae ofik foier rd &= & ghm?

ST 9A THY, 37 Uk Uik TUe § Uk A caee (he 98¢) & T4Tg 999d ¢ | U 1Y, O TTedT ux fewad &, fom wes 3eit & =9eit St
21 TEY TR &1 gIgaR A+ ot 3107 arg # 8, YR g 16 381 § SR THET & WISl o 381 8

ws: 346 R &t dwd gy, Feafaf@a # @ o a1 a9 Aas ok SwER o 82

Assume it's a minor incident and continue driving, as it doesn't involve you directly.

g HH o foh T Uch SIEI-AIE GeT ¢ 3R & 9o Sl ¥, a4ifch 399 30 1Y 91X 0= anfae =gl g1

ull over safely, check on the driver of the damaged car, and Oiler to provide your contact information and What you wWitnessed

g i IR ch IR ; 3701 H YT Sl $B , 98 I
Immediately call emergency services, even if there are no apparent injuries.

Ahlcl ATUTIRTAT HaTadl bl Shidd @, Mot gl This TO® =91 7 il

Chase after the car that drove away to get their license plate number and confrent them.

St X Tefl T2 8, 39T UIST & difss 39! 399 Wic Hax Hel Db 3fE 399 AT i1

Q.No: 15 Five students = P, Q, R, S, and T - are sitting in a circle facing the center. P is to the immediate right of Q. R is between P and S.

Who is sitting to the immediate left of 7?7

U BE-P, QR SHART-Fg Hl IR UH I HAS I P, QF Sl A AR FIR, PR SHF AT H B
T & 1eh d12 AR & 9o1 87

‘

Q.No: 16 A number when divided by 5 leaves a remainder 3.
What is the remainder when its square is divided by 57

e U1 df 5 T 90T 39 1R 2uthd 3 s=ar g
IF a7l Rl 5 F U & UX ARl T BIT?
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Q.No: 17  Read the following statement carefully and identify the conclusion that follows.
Statement: The school has made computer training compulsory for all students.
Conclusions:

I. Computer knowledge is essential in the modern world.
1l. All students will become computer experts.

F=fofEa Fu= &t @ @ ud offx M e
Y el A Wl BTl & oIy shuger ufdiern AfHard & &g 8l
ELCaH

I mgﬁmgﬁmﬁmmmal
11 g3t BT SR Ay g4

nly Conclusion | follow

| HTHIOT Shddl
Both | and Il follow

1 3% || ST S1ER0T e 8

Neither | nor Il follows

Tt | ofR 7 &Y 11 SHTERT el &

Only Conclusion 1l follows

chael s || SIFERUI 3dl &

Q.No: 18 | Six persons — A, B, C, D, E, and F - are sitting in two rows, three in each, facing each other.
A faces D.
B is to the left of A.
F faces the person who is to the right of B.
C does not face A.
Who faces C?

Tg Afed - A, B, €, D, E 3 F - 2t tfgedl 8, e ufge § Fi9-J01, uoh-gae & a05y@ 38 81
A, D & |A[E 21

B, Adh 91E AR 1

F, B % I3 3il &6 i & T @ B

C, A % 97 el 1

C & TRE i 67

‘

Q.No: 19 Identify the odd group:

fows Tg &1 ugaE &
22
22
44
44
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33

Q.No:20 Choose the odd one out:
famm T
b /O

5 /9
468

468
234

234
936

936

Q.No:21  Seven persons sit in a circle, all facing outward.
P sits to the immediate right of Q.
R is second to the left of Q.
Sis between P andT.
U is opposite R.
Who is to the immediate left of T2

H1d Al Yok g1 § 91g% &l 3 7 i 96 g
P, Q & &1 18 3R a1 B

R, Q % 912 AR Y TH W 2l
s,PalRTH = H gl

U, R & faodta 21

T &l a1g AR Al 82

‘ e Cclo oW oo

Q.No: 22 Read the following statements and conclusions carefully. Assume the statements to be absolutely true, even if they contradict known
facts. Based only on the information given in the statements, decide which of the conclusions logically follow.
Statements:

Some students are clever.

All clever people are honest.

Mo honest person is lazy.

Conclusions:

{1) some students are honest.

(2) No student is lazy.

(3) some clever people are not lazy.

(4) some honest people are not students.

fFfeiEd syt oft freeral &t eagde g | Syt i quia: O WAy, o & 3 91d Tl &1 Wed F g1l A wuE g & TS
SRR & YR W, (g Sifaig for @i a1 Fsed arfdhe &0 @ aazor #=ar g
Y

3O B IR B ¢

guft I & SaTerR g &

s off $ATER aafa st A8t gam

Fresd:

(1) Fo 8= SaFER 8 &I

(2) =g oft o= st 8T gl

(3) T IR AT e T gid |

(4) © SHHER @FT B gl gid |

Al (1), (2), (3), and (4) follow

@t (1), (2), (3), 3R (4) argavor &ed &
nly (1), {3), and (4) follo

1), (3), 4) R
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only (2) and (4) follow
& (2) R (4) Irgaeor F2d §
only (1) and (3) follow
e (1) 3R (3) ergor ¥d &

Q.No:23  Arrange in a logical sequence:
1. College, 2. Admission, 3. Application, 4. Degree, 5. Result

difches A # =0afed &y,
1. Sicter, 2. Waal, 3. amaeq, 4. 2, 5. uftom

3,1,2,4,5
3,1,2,4,5
2,3.1,4,5
23,145
3,2,1,4,5
3,2,1,4,5

Q.No:24  Arrange in logical order:
1. Income, 2. Education, 3. Employment, 4. Interview, 5. Application

afehes A # saafeld &y
1. &g, 2. faem, 3. TR, 4. WIATeRR, 5. 38

54,321
54,321
1,.2,3.4,5
1,.2,3,4,5
2,3,4,51

2,3.4,51

Q.No: 25 | In each of the following question, a pair of words (letter sequences) is given on the left-hand side of the double colon (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding word from the options.

LIP: OHR:: JAR: ?

FafafEa uds vy H, gigt S (:2) & 918 37T 21e8] &1 Ueh 7 (3181 1) e man §, it uans Ffs)a qufnre s &1 ormeor &hedt 21
Ugedl g deh ugaifg ok faened! & 4 9! 9 =g 1 &3 o folg 3T dek ol 1R 1e2 1= arg fifag)
LIP: OHR:: JAR: ?

‘
W
wm ™

QNo:26 If+=%* -=+ *=- [=]:then,
whatis (3+4)*2-1/57

qﬁ—_'_:*'-:-a.:*:-,f‘:,";?ﬁ,
(3+4)*2-1/53m18?
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12

[To Y o B
‘ N

QNo:27 2384, 1592, 3756, 4298, 3629 - which is inconsistent?
2384, 1592, 3756, 4298, 3629 - &9 AT T &7
3629

3629
3756

3756
1592

1592
2384

2384

Q.No: 28 Class has 105 students. Boys are 40%, girls 60%. Shivani is 30th from top, 20 girls ahead. Find number of girls behind her.

e H 105 BT &1 diSch 40% 3R @13fhaT 60% g1 gt Fux @ 309 - wR 8, 399 20 wisfeal amt 81 39k Uies aIsfehdl &Y dwen I
Hifemi
47

42

& &R RG &

QNo:29 Five friends - A, B, C, D, and E - sit around a circular table facing the center.
B sits to the immediate right of A.
C is to the immediate right of B.
D is to the immediate left of E.
E is opposite A.
Question: Who is sitting to the immediate left of C?

utg i - A, B, C, D, 3R E - U= TR A 3 991 2 &g &t 3R 08 o 35 81
B, AT &lch g1V &aT &1

C, B &l g} gl

D, E & 31 a0 &1

E, A faudia g

HH: C & &k 910 R SoT 872

‘
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Q.No: 30 | Read the following statements and conclusions carefully. Assume the statements are absolutely true, even if they contradict
commonly known facts. Based solely on the statements, determine which of the conclusions logically follow.
Statements:

All cars are vehicles.

Some vehicles are bikes.

Mo bike is a truck.

Conclusions:

(1) some vehicles are not trucks.
(2) No caris a bike.

(3) some cars are bikes.

(4) some trucks are vehicles.

Fr=fefEa syt AR Frespal ot wwrgds ud) A o i wud gofa: 99 8, Wel 1 d 9gd: T01d awl o1 T2 &id 811 hdel huFl &
SR 07, MR &3 for F9 @ e aifehas &0 & argaeon & g

Y

gl R aE 8

O d1g- A1 8l

ﬁé*ﬁm;ﬁﬂiﬁ?n

(1) gw—tﬁna?f;aﬁré’r%s
(2) Y ot FR T8 7Bl 61
(3) T® TR T=F §I
(4) F® g A B
only (1) and (2) follow
e (1) 3R (2) TRy i
only (1), (3), and (4) follow
&ae (1), (3), 3R (4) argERoT Ed &
All (1), (2), (3), and (4) follow

T (1), (2), (3), 3R (4) SrFaeoT v &
Only (1) follows
chare (1) SFERUT &hdl 6

Q.No:31  What will be the next number in the series: 1, 4, 13, 40, 121, ?

el H FTel Sk 1B 1, 4, 13, 40,121, 7
365

365
362

362
370

370
564

364

Q.No: 32 | A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order at the right
end.

Based on the pattern, answer the guestions that follow the given input.
Input: Panther 88 33 11 Roar Stripes 44 Animal
Question: Which is the 1stword placed in Step |?

Qeh =& -3iR-TT saaeyt A= e =01 § Uek fAfAe Ao o1 el &3 gY &Y 7Y §9Ye i qHedaiedd &l §1 59 99 & ogar,
U TIR01 H JUIHTAT & AJHR Fad BIE A5 ol Y= 18 R AR I@ATHG FU & Had d9d] A1 6l Had SIS oK of SIn S g1 98
ufehan a9 de IR T8 & ofd des fos gt 2reg @12 afiz guiaren &0 & afft oeft dwend 21 ik are’idl e § enafa 7 g oind |
39 U o oNYR WR, feU 1Y e & a1g o= aret 9l & 39w &gl
Fqc: TR 88 33 11 7of uTRal 44 WeR
e T=01 | H Uge Ueg A AT g?

Stripes

GliEal

Panther

TR
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Roar

ot

Q.No: 33 Read the situation and choose the best judgment:
You're traveling in a bus and notice smoke coming from the engine area. What is the best course of action?

fafa =t wwst ofk w4 aree fFAofa &
AU =9 F 1 R T3 g ofiR o7 ATt B A YT Pieveral ga d@d 81 Tad 3<s1 IuTd T 87?

en the emergency exit and alert other

Panic and scream

HeRT et ofR =it
Stay seated and do nothing
& @l AR To 7d HA

Wait for someone else to act

ferdit 3R & hRd el S WedTaT e

Q.No: 34 A person walks 10 m North, then turns right and walks 5 m, then turns right again and walks 10 m. Where is he now from the starting
point?

Qeh eafer 10 HIex I <l 3 It g, Ohe <10 73d1 ¢ @iz 5 Hiex Feidn g, ik &g 2T & 3R 10 Hiex gefar &1 39 9g URMe fbig 4
F1 8?7
10 m South

10 Hiex féyo
5 m West

5 #Hiex ufgH

15 m North
15 Hiex 3%

Q.No: 35 | In each of the following guestions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Glacier : Melt :: Volcano : ?

FafafEa U oy | &t esg] & o9 U faf2re dey femn may @1 39 g 6 ugeH Fifog ot fEu mu g & ary aore aryf dEy TEd gl
i fey 71g IR faeredl d & g9 3uge fadeu giHa1
few1e : e < SarerEt : ?

IErasar
Erupt
ReAT
Burn
STRTIAT

Q.No:36  What number will be presentin place of the question mark?: 13, 17, 25,41, 73, 7
USfarEe g o M UL i If 9@ ui?: 13, 17, 25, 41, 73, ?
125

125
97

97
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101
101

QNo:37  Complete the analogy: PQR : LMN :: GHI : ?

TG TR He: PQR 2 LMN 22 GHI : ?
EFG
EFG

BCD

BCD
ABC

ABC

Q.No: 38 Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
1. ROSE : TQSC
2. LION : NKOL
3. BEAR : DAWT
4. CAND: ECNB
5. TIGER : VKGCP

frfef@ ofa # @ IR g g 8% 3 g o € oY 39feIg Uok g 1 §1 95 i A1 8 S 39 Wp I TEET 9 82
1. ROSE : TQSC
2. LION : NKOL
3. BEAR : DAWT
4. CAND: ECNB
5. TIGER : VKGCP
EEAR=DAWT

SEAR L DAV
ROSE : TQSC

ROSE : TQSC
TIGER : VIGHW

TIGER : VIGHW
LION : NKOM

LION : NKOM

Q.No: 39 Pointing to a girl in a photograph, Amit said, "She is the daughter of the only sister of my father." How is the girl related to Amit?

Ueh TR & Geh cigeh! dhl 3R 33TRT 2hedd g 310 7 Shgl, "ag8 9 U1 i Sehedldd 981 &1 J3<1 81" 98 Wiehl HHd 4 Tl UehrR Hefdd 87

MNiece

Aunt

il

Sister
g

Q.No: 40 You're leading a group project and one member is not contributing. What is the best decision to resolve the issue?
3T Uk Tg TRATTT @1 Aqcd &Y T6 ¢ 311X Yeh UG TIGH Al & 161 ¢ | 5 AT &l 5ol Sed o o 994 oreaT ufg Fam 7
Do the work yourself
I Gg heAT
Remove the person from the group

i & Tgg F Feprerr

cormEmE——

Complain directly to the teacher without discussion

o =gt & e fveres @ fepraa &t
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Q.No: 41 In a 90-student class, girls are double boys. If Rahul is 20th from top and 15 girls are ahead of him, find number of boys behind him.

90 BTl ! Ger et A, wTsfehal @zl & i 81 afe Uget SR & 204 T W g ofik 35 3t 15 @ikl 8, df Iua UIe @sa! &l dem
T Shifag|

QNo: 42  Input: cat 28 dog 43 bat 59

Step 1: 59 cat 28 dog 43 bat
Step 2: 59 bat cat 28 dog 43
Step 3: 59 bat 43 cat 28 dog
Step 4: 59 bat 43 dog cat 28

What will be the final step for the input?
gg<: cat 28 dog 43 bat 59

0T 1: 59 cat 28 dog 43 bat

TIOT 2: 59 bat cat 28 dog 43

=0T 3: 59 bat 43 cat 28 dog
0T 4: 59 bat 43 dog cat 28

FYE o ferq Sifds =<ur s gm?
59 cat 43 dog 28 bat
59 cat 43 dog 28 bat

The output is already complete at Step 4

I 4 U SICYE Ugel ol Y gl Il &
Y bat 43 dog 28 ca

bat 43 dog 28 ca
59 dog 43 bat 28 cat

59 dog 43 bat 28 cat

Q.No: 43 A delivery agent starts from his warehouse and drives 8 km North, then 6 km East, and then 3 km South. He then makes a U-turn,
returns 3 km North, continues 4 km further North, and finally takes a left turn and drives 6 km. Where is he now in relation to the
starting point?

U faefiedt gole aroe e & Wi 9o 3 AT § afe 8 faft 3, i 6 ot o ik i 3 fodft 2faror i air midt aoman 21 o 3w
g i g, 3 fehrt 3w &1 o wilear , 4 fermt afik 3= &l ofR Jad1 g, 3 oid § 910 g2ae 6 et st =relran g1 org ag Yool foig &
T Fei g7

14 km North

14 ot 3a=
12 km North

2 fohH] 377
6 km East

6 foreht o
11 km South

11 feet gfaror

Q.No:44  Complete the following series: M, O, R, ¥, ?

FfeifEa sf@en sl Qrr s m, O, R, v, ?
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Q.No: 45 If 'TABLE is coded as 40 and "CHAIR" as 39, what is the code for ‘SOFA'?

3FTE ‘TABLE' &t 40 3fiX ‘CHAIR’ T 39 & ¥ H i fehan wram &, at 'soFA’ & o wis e &7
40

40
39

Q.No: 46 A man sees smoke coming from a building and hears people shouting. What should he do first?
Qeh HTEHT Ueh SARA 4 4T Feheledl &1 8 3R @il o Rieetdl gU e 81 99 Had Uged T e d1igq?
Run away immediately
T I el
Try to enter the building

FART & U1 he- hl TOTH &

RISl T3] hi hie] ¥
Ignore and move on

AT e SN AT 6

QNo:47 |5 3 row of students, Priya is 9% from the left and 14™ from the right. How many students are there in the row?

T &1 Ua tfaa #, firan ard @ 91 ek e @ 141 21 vfdw & e v @2

i
22
23

Q.No:48 In a code, "APPLE' is written as "BQOKF', then how is 'GRAPE' written in the same code?
U &ig H, 'APPLE' 1 'BQQMF' fomar frar g, of 3t i3 # 'GRAPE' =T & forat wire?
HQBPF

HQBPF
HRAQF

HRAQF
GQADE

GQAOE

HS O
05200
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Q.No: 49

Y IR & [y FIE™ IS AT 8, wifchd Tl o f&-1 fides Ay fatheldl ol SR0T &9 ohd &
e |; hae SifE SoMT AR 6 MEE A ST 81

e |1: Owhet TaER & o OhaT gHa anaed g1

i 41 SRt SFERT edl g7

Q.No:50  Circle, Triangle, Cube, Square = which is the odd one?

g, e, T, 7 - 38 @ &4 O faum &2

Triangle
g0l
Circle

Kl
Cube

)

.0

[
=]
=
[+5]
=
i}

PART - B (General Awareness)

Q.No:51  Mame the port that is privately owned by the Adani Group?

9g siewig forden! @i ol g &t T3l 95g & U 8, &iF-91 82
Visakhapatnam Port, Andhra Pradesh
fa=mar<=a Jewg, oy ueEs
Chennai Port, Tamil Nadu
J7E deung, afterg
Kandla Port, Gujarat
EE <]

Q.No: 52 Consider the land reforms implemented in India between 1947 and 1990. What was one of the main objectives of these reforms?

vd # 1947 & 1990 & ot @r] fihg 710 offf ol R foar 31 39 QURT &7 U 08T I839 a1 uT1?

To consolidate large landholdings in the hands of a few individuals.
e Al & gryl & 921 Y ot gifeha A1)
To encourage the widespread adoption of mechanized farming techniques.

nafi-figrd it der-itenl i =Tds U & U= & foig Uemied wem

0 reduce the concentration of land ownership and protect the interests of small farmers

chH AT XET AT
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To promote the cultivation of cash crops for export.

Frafa 3 forg T vt & St =t =gmr 24m

Q.No: 53 | In each of the following questions, a statement labeled Assertion (A) is given, followed by a statement labeled Reason (R).
Assertion (A): Migration can be driven by negative and positive circumstances.
Reason (R): Push factors make individuals migrate away from a region, whereas pull factors draw individuals to a region.

FrafeEa naie we &, afSrery= (A) s ge sy g man &, foash arg @eon (R) s e sy e man @1
HNFYA (A): TETEA TR R GehRs uRfSfaal 9 ok g 9 g1
THIROT (R): g21 S wfaadl Tl U 89 @ 2 & oI §, 9i=fes g &1ees aafaedi ot g & &1 o wfiwd &1

A s false, but R is true.

A T g, Wi R O Bl
Both A and R are true, but R is not the correct explanation of A.

A IR R EE g &, At R, A &1 Tt TodteRo Adl 21

oth A and R are true, and R is the correct explanation of A

R S g, dUT R, A <kl
A is true, but R is false.

AT g, difeh R ATH B

Q.No: 54 | Consider the following statements regarding the evolution of India's major drainage systems:
1.The ancient Indo-Brahma river is believed to have split into three major drainage systems over time.
2.The Ganga and its Himalayan tributaries represent the central drainage system.
3.The western drainage system consists of the Brahmaputra and its tributaries.
Which of the above statements is/are correct?

YR &1 W@ T Frit gonfemt & e & g9y § Freafeafea syt w ffar fife:
1. TH1 A1 Wt & ok Ordi= §38t-arg =it w9 & @ i oeRg Sie et nonferat | s gt i
2. 7 3 IR fgmmerdt ugaes ARmt dda oie Feerdt wunelt @ nfafRite s #
3. ufgnf s ARt voTett § gy ofit 39! gergs Afear i &
IR FuA § G o 91 JET 887
only 2 and 3

hae 2 afiR 3

All 1, 2 and 3 are correct

i1, 2 siR3 ot €
only 1 and 3

Shaer 1 3 3
only 1 and 2

[chao] 1 3[% 2

Q.No: 55 Whao was the leader that defeated Krishnadevaraya of Vijayanagara in the Battle of Raichur?

IR & g o FWeE T4 i TSI T I T TATaf S or?
Alauddin Khilji
AATIE A [etult
Ahmed Shah Bahmani

SEHE 28 FgH-1
Ibrahim Lodi

SATE W

dil Shah of Bijapu
Ed

Q.No: 56 | In each of the following questions, a statement labeled Assertion (A) is given, followed by a statement labeled Reason (R).
Assertion (A): Migrants who enter a new country or region are called immigrants.
Reason (R): Emigrants are people who leave their country to settle elsewhere.

Feaafaa nads us |, if9wy= (A) 7 o = R man 8, [S9as a1g &ron (R) A v &y fan man @i
Y (A): St wart freft g 2ar a1 &3 & wawr Fed §, 3% rmart &g w2l
ROT (R): waret & & giat & Sit o1 331 Sige agl 3R a9 o §1
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Both A and R are true, but R is not the correct explanation of A.

A 3R S g €, Afe R, A &1 T Tt Al 21

oth A and R are true, and R is the correct explanation of A

R S g, dUT R, A chl
Als true, but R is false.

AT T, Af R T B
A is false, but R is true.

ATT g, AT R T BI

Q.No: 57  Which list allows both Centre and State to legislate on the same subject?

ant=-di gt 7 Sy ok To 2T Gen & fav w &g 3 wend 87

Reserved List

arferd gt

Union List

Ha gl

State List

o gt

Q.No: 58  Given below are assertion and reason, read the statements and choose the correct option.
Assertion: British capital accumulation in the 18th century was reinvested in industrial development.

Reason: The capital was largely controlled by merchants and industrialists instead of the feudal aristocracy.

i e ok wRor g g €, s @t ud ok wdt e )
U 181 sl F fafear Usit @< &t oftenfire e § g fomar e an
TROT: Uull O AT A af & Soi sl ofi Jeiafert &1 g ami

Both Assertion (A) and Reason (R) are true, and R is not the correct explanation of A,

AN (A) 3R FHROT (R) ST G §, YT R, A &1 el TEHT gl g

) (
Is false, but R is true
O &, RO

A s true, but R is false.

AT 8, AT R oI 1
Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

1A (A) 3R SR (R) €1 O €, IYUTR, A T T W gl

Q.No: 59 Which key reform in 1991 specifically addressed the inefficiency of public sector enterprises and promoted competition in industrial
production?

1991 # frd U@ GuR 7 A9y U & "rdui-ich &5 & IJeml 61 A1 i daiidd foan ofiR ffeifien Ieure & ufawayf = Fgrar f&ar?

Privatization of profit-making PSUs

T AT dTel TTeuii-lsh JUehHAT ol FHoirengor
Fiscal Responsibility Act

ToTeh R Iaelite Afafas

omplex Industrial Licensing proces

Public Distribution System Reform

reeif-en [aaor yuel! gur

QNo:60  Who is the author of "The God of Small Things"?
"g Tie AT Wid " &1 ofgs & 87

Chimamanda Ngozi Adichie
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TommiET et arfest
MNeil Gaiman
et fim=

TS IO
Mo Yan

ot g

Q.No: 61 How does the Faint Young Sun paradox challenge our understanding of early Earth's climate?

o2 gar gif faRterre uRfie gt 6 sorarg & aR & A w6 &) R veR gt &ar 82

It implies there was no liquid water on early Earth.
FHRT A1 Tg ¢ foh R gedt R awet oiet 8T 1

It proves the Moon once had an atmosphere.

369 48 i giaT 8 foh =gA R i argrse 1)

t suggests that early solar output was too weak to prevent global freezin

Odl goidl : I Gehl
It shows Earth was too hot due to excessive solar radiation.

99 U I g & arcfaes IR fafenror 3 swror geeft aga m o)

Q.No: 62  Read the below statements related to Concurrent List laws:
1. Union law overrides state law in conflict.
2. State law can prevail if reserved and assented by President.
Which is/are correct?

wHadt gl & sl O gataa i Ry g el v
. TG I A, T9H o [T 7 75y & FF W g gia gl
2. I ol A ot UHTE 81 HerdT § W AFUTD ZR1 38 FRIeTd 31 911U 3R Ih! Eiepfd &1 9g)

1= a1/a |gl 8/8?
only 2
thae 2
only 1
had 1
1 3R 2 &I}
Neither 1 nor 2
qdat1afRag2

Q.No: 63 | Which of the following statements regarding the implementation challenges of UCC is most accurate in the context of judicial
interpretations and recent state-level developments?

Tt & sratage THifadl & ey § fefefaa § @ &5 97 Su= s st of g1d & Iog-Wid geamnat & de¥f § aed 9ds
82

UCC is enforceable only when ratified by all religious communities through a national referendum

T it o] g TR € o9 TEY SHAa 9ug & Aregn § ot anfifs aEmt g 39T argHte e Wi

The Law Commission of India (2018) recommended UCC for all religions to ensure uniformity

YRR [0 3mah (2018) A uaEudt gRiga & & oy gt o=t & fog gam amies dfgarn (gih) 6 RwriRer $i ot

The Supreme Court has uniformly declared UCC as mandatory across states

Tated e = 9 weal d 99 =0 © 99 AriRe 9igar & aifqard 9ifte e g

he UCC is already implemented in Goa and Uttarakhand through their respective legislative framewark

FHES i =t <h HTeIH EIUT AT ekl
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Q.No: 64  Match the following cave sites with their architectural characteristics:

Column A-Cave Site Column B-Architectural Feature

A. Udayaqgiri 1. Circular caitya with stipa and arch
B. Guntapalle 2. Pillared veranda with cells at the back
C. Khandagiri 3. Animal-shaped single rock excavations

Fr=afaf@s e et &1 g9 wmus Risteared @ fes fifcg:
WY AT T | TY B-argiey fRstaan
A. IR 1. Tq0 SR He¥ Hfga AR I

B. TeTestt 2. U 2 SR T arell T WG SRl

c. @SR 3. U3 & ATHR T Yebel T I Gars
A-3, B-1, C-2}
A-3, B=1, C-2
A-1,B-2, C-3
A-1,B-2, C-3
A-1, B=3, C=2
A-1,B-3,C-2
A-2,B-1, C-3
A-2, B=1, C=3

QNo: 65  What is the boiling point of water at sea level?
GHg, dc1 UR U a1 Fag-ics =1 8?7
208.4°F

208.4°F
217.4°F

217.4°F
L1 2°F]

212°F]
203°F

203°F

Q.No:66  Which of the following statements is correct about Urs at Ajmer Sharif?
ST M & 99 & s & Fafeifaa § 9 &5 o1 sua 9t 87

it follows the lunar calendar and marks the saint's death.

T I% Shele Tl ATA AT ¢ R T F g &l Ul 21

It is celebrated annually based on the solar calendar.

g X dhel=t & AR U Hiaay J--E1 o711 8|

t marks the birth anniversary of Khwaja Moinuddin Chishti

el Tclt &1
It is held only once every five years during Ramzan.

g &1 T U1 § thael Ueh J1 TG & & IElTerd fhar S gl
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Q.No: 67  Read the following statements:
Statement 1: Diastrophism includes all processes that move, elevate, or build up portions of the Earth's crust.
Statement 2: Exogenic processes derive their energy from the atmosphere, influenced by solar energy and tectonic gradients.
Which of the above statements is/are correct?

Fr=fataa syt = o

YA 1: SEEIthen § o wofi nferarg anfie g & geet & oudl & o Gl & fgee &, 308 Jer & a1 a5 8
HYA 2: YRStk Uiehany 1ot Sull drgHsd 4 Ui &t g, S "X il X Saelf-ier Af3ue & uwrfaa gidt gl
Iuded YAl A § i A3 wgi 882

Only Statement 1 is correct

had FUT 1 9Bl g

1 2
Both statements 1 and 2 are incorrect

w1 AR 2 Tod

Only Statement 2 is correct

HIA FUT2 B &

Q.No: 68 Consider the following statements regarding the structure of Carnatic music compositions and choose correct option:
Statement 1: Varnam is typically performed at the end of a Carnatic concert to summarize key ragas.
Statement 2: Alapana involves improvisational elaboration of a raga without rhythm (tala).

weifes difia vaA1si & @ & ey § Fefeiay syat w Far $ifag ok o Beaa g
YA 1: FUH AR TR FHAeh Tiiid TARIg & ofd & U@ I a1 FIRI U e o [olq U fhal i gl
YA 2: AAT § {97 779 (1) & 0T ol dichlfeleh o} S aial gl

Both 1 and 2 are correct

1R 23wt g

Neither 1 nor 2 is correct

adtlsiRa@2adi g
only 2

Q.No: 69 Who was announced on 26June 2025 as first Indian astronaut for Titans Space mission?

26 S 2025 I T3eH Sianel M & g mum vRdE siaftet aE & wu # g aifte fra mn

Rakesh Sharma

ITchal AT

Sunita Williams
gran faferg
Minal Patel

H e ueed

Q.No: 70 Which of the following ISRO initiatives, launched with the vision of “Catch them young”, aims to introduce school students to space
science and technology?

&g 3 " 3 SR & T OF i M EfafEa § @ w9 d 359 uge =1 32 Tl ol = eiafer e ofik etk & oifEa
AT 87
Vidyarthi Vigyan Manthan

faenoff fAsm Hum

UVIKA = Young Scientist Programm
_@

SPARK Internship Programme
ek ST FrdkRa
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MISHTHA Space Module

NISHTHA T0 Aisga

Q.No: 71 |'Which classical dance form uses storytelling through hand gestures (mudras) and facial expressions (abhinaya)?
hi=-HT el g feft Gerall (Fx-are) 3R vig-HitET (A7) & Ares 4 sy-arE- 3l 8?
Bihu

fg

Koli
TIAT
Garba
=T

[Hed [ciH]

Q.No: 72 Which of the following is true about the Voluntary Vehicle Fleet Modernisation Programme?
1. It promotes scrapping of old vehicles to reduce emissions.
2. The "Ministry of Road Transport and Highways' is the nodal agency.
3. The scheme incentivizes buyers of fuel-efficient new vehicles only in urban areas.

Wity arg- 31 sryfrRtsvor wrderd & R A F=iofaa § 9 & ar a5 82
1. T8 IHSH A e & A1 TR 151 i Ty HE St T 1 8

2. 'gg5 uiag IR T dared’ Tigd gt gl

3. g YT hael U8dl &1 A SU-ad AU 1l o WAGRI &l HicHTigd el g1

only 1 and 3 are correct

ael 1 AR 3T &

All 1, 2 and 3 are correct
g1, 2 a3 9gt &
Only 1 and 2 are correc
eharet 1 1R 2 9t o

only 2 and 3 are correct

hae 2 R 3 adt &

Q.No: 73  According to John Maynard Keynes, what is the most effective tool for reviving an economy during a depression?

T AATE T 6 SFER, T & g rfanawl & TAwiiad s & ol Jae WHTE! JUhu] a7 g7
Increasing public savings

Arefoit-ieh oad | gig

Reducing private investment

feft g o weft

xpanding government expenditur

Raising income tax on corporations

et WX AEER FgT

Q.No: 74  Which of the following is a key focus area of the PM Gati Shakti National Master Plan?

g nifey uifesr TR AR ST ST U@ T Shfsd 8 diF A1 g?

Multi-modal connectivity

Hg-AISd Frlaiac]

Agricultural subsidies

R gt
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Urban development

gt e

QNo:75  What major reform does Bharatiya Sakshya Adhiniyam bring?

YR T8y SfAFTH 19 91 931 YR ord1 g2

Digitization of evidence

Introduction of new fundamental rights

T4 Aifers s1feert = afmg

Abolishment of the Supreme Court

g RIE 1 I

Removal of all existing laws

gl HiS[er ST ! g STl

Q.No: 76  Kishor Makwana's appointment as Chairman of NCSC is significant in which evaluative context?

gt & areet & U § (i AcamT dil Fgfd fog geuidaras dgd A agayguf 82

Agricultural economic reforms

P il guR

Political consolidation in Southern India

SfET ad | Ui gdhieor

Caste census leadership

S ST A

oclal justice administration and SC palicy implementatio
g HaTdAd

Q.No:77  Where was the 86th Senior National Table Tennis Championships 2025 held?
g6t i oty aw o dftmafag 2025 Fgl miferd & 15?7

Panaji, Goa

qurst, T

Surat, Gujarat

L, e
Mumbai, Maharashtra
Helg, AENIY
Bhubaneswar, Odisha

Q.No: 78 The IMEC is envisaged as a multi-modal corridor. Which of the following modes of transport are its primary components?

ATETHSY! ! Ueh Heel-HISd SiNeK & =0 § URafeud fehar mar g1 F=fefEd 8 € &1 & aRas & 9req 39 myfie 92 &7

GlF! A< 34

Road and Pipeline only

hael g8 Ud USRS
Maritime and Rail only

chael G Ud 3o HI
Air and Road only

had gaTs R 92

QNo:79  Which of the following pairs is correctly matched?
=t & 4 &H @1 gm a8t gafaa g7
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Microeconomics - Inflation rate

gerardanme - garehifd g%

Macroeconomics - Price of tea

BRISh I - 919 hl ShiFd

.

Microeconomics = GDP

gerarfame - St

Q.No: 80 |What was the main purpose behind the enactment of the FREM (Fiscal Responsibility and Budget Management) Act?

FREM A (Iraeily Savafle Ud deie dy- ATAMHTH) el ] e o1 WHE I8 i1 917

To Regulate private sector investments

et s = fofafta s

To increase fiscal deficit

TSI 81 H gieg s

0 reduce government borrowing

ERERL JHR] &l &hH Sl

To promote foreign trade

feaft smum =t v

Q.No: 81  Arrange the following Fundamental Rights in the order they are listed in the Indian Constitution:
1. Right to Constitutional Remedies
2. Right to Freedom
3. Right against Exploitation
4. Right to Equality

fFefofEa difers arfiert &t wrdha dfaus # TEieg w0 | ogafea &
1. Gerenfer Iu=ETRT o7 AfdRR
2. AT FT HEFR
3. afiwur & fTeg arfieR
4, AT T SMfERR

1-2-3-4

1-2-3-4

3-2-1-4

3-2-1-4

4-1-3-2

4-1-3-2

- - 3-
4-2-3-1
Q.No: 82 Which indicator in EODB (Ease of doing business) measures the time and cost to resolve commercial disputes?

SISt (R & J A H @i 91 Hohda aniuifelen el &l ol eherl § @+ aTel 999 3R @1Td &l H1Ud1 67
Dealing with construction permits
Fmfor ergafa & Ty d=g=

Trading across borders

AT UR |TAR
Getting electricity

ESEIRISETSI

Q.No: 83 According to Bohr's model, what is the significance of an electron transition from a higher energy orbit to a lower energy orbit?

d1gT & Aise & IgHR, I Sl el § = Saf Fan F gelag= JeHuT o 1 Al 87

The electron's angular momentum becomes quantized.
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golag - ol hIvita W7 aifed gt St g1
The electron gains energy.
Selag i Sl UId &l &,

A photon of energy equal to the energy difference between the orbits is absorbed.

el o o1 Foll S & S=IE Sl &l Udh thicld Haitd gan g1

A photon of energy equal to the energy difference between the orbits is emitted.

ehefall o ot el afav & SR Sl &1 Us il Jcdfeid giar gl

Q.No: 84 India’s support for which of the following missions aligns most closely with IMEC's purpose?

Frfotad § € fomg e & fog wikd 1 S84 IMEC & 3290 & |19 999 A9 Mehed § 31 gan g?

African Union's Blue Charter mission
STthYehl T 1 & AR A3A

MNon-Aligned Movement's Neutrality Declaration

TefRder el F qeear giyun

nternational Solar Alliance energy initiativ

UEECE
One Sun One World One Grid initiative

U gd g fag uek firs g

QNo:85  What is the main objective of ISRO's SCATSAT-1 satellite?
O & Thedde-1 IUUE o 06 JeT M1 87

Monitoring earthquake zones
Wehy &A1 1 TR
Measuring atmospheric ozone depletion

ARHSAT SIS+ &ROT it HIGAT

weather forecasting and cyclone prediction

HIEH galgA 3R Iehard gaigar

Mapping forest cover across India

WA ¥R | g &9 &I A==

Q.No: 86 | Which of the following pairs is correctly matched regarding scheme and its implementing ministry?

AT 3R 3T FElaa- 54 & "oy § FEfofad # § &4 91 gm ggy gafed 87
PM-JANMAM = Ministry of Rural Development
diur-o A - arior fdere g3
Samarth Scheme = Ministry of Textiles
g disHl - g5 5
Mission Shakti = Ministry of Home Affairs
[CRERICERRICe eI
PM MITRA = Ministry of Agriculture

digd 34 - 3 J3reg

Q.No: 87  Which of the following statements is true in relation to the enforcement of President’s Rule?

e § 9 &9 W FaF Tyl e & HadE & da9d H 98 87

he Governor’'s recommendation can lead to dismissal of a State government, even if it enjoys a majorit

e EIEGGH

It can be extended indefinitely with the consent of the Prime Minister
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=4 HuHEAET Fi Tgafd § aAfderd 9% 9e™l il 9hdl 8l

The President cannot impose President’s Rule unless the Supreme Court permits.

IEUf TEOTT M A1 81 2 Hehd o1 deh feh GHIH HIE SRR 981 a1l

President’s Rule can be declared without Parliament’s approval

Irgufa oA fom doe & Ao & Ot e s oAt g

Q.No: 88  The Industrial Policy Resolution 1956 played a significant role in shaping India's industrial development strategy. What was a key
feature of this resolution?

siteifitss Hifa deed 1956 3 WA &t e fAam wrifa Ft enar 33 & ngayget yfte ) 53 e 6 g fAdwar @ off?

It strongly advocated for the dominance of the private sector in all industrial activities.

5o et affefies nfafafat & At &5 & w6 gTaR g S

It promoted a completely open and competitive industrial environment with minimal government intervention.

5O IATH TR gEET & 91y guid: ot 3R ufawuef sfiifiie arareazon &t SerEn i

t categorized industries into three schedules, with the public sector leading in strategic and heavy industries

It emphasized the development of small-scale and cottage industries while discouraging large-scale enterprises.

99 a3 09 & JeHT &l galcTiad R gY oY Ud ek JaT o faare wR SR R

Q.No: 89 What advanced technology is being tested in ISRO's new "Next Generation Launch Vehicle" (NGLV) project to replace PSLV and GSLV?

tiuaued! 2t Seguaa! =f Aiaitd &= & Y 3921 1 92 "Aeie o3 i wgiahd " (Teigerdr) ufaisrn & i 3ad ao-is &1
TteroT feRar o @ 87

eusable booster stage with semi-cryogenic engin

- ol h G T &

Quantum entanglement-based control

Ramjet propulsion

HSiE nuiteA
Multiple orbital drop peds

U Shefig gia uigd

QNo:90  What is the standard width of a hockey field?
gidh! BeH &l AT H18TS fcha-il &7
50 meters

50 Hiex
54.5 meters

54.5 ez

55 meters

55 ez

57 meters
57 Hiex

Q.No: 91 Which Chola ruler is credited with the extensive overseas expedition to Southeast Asia, particularly against the Srivijaya Empire?

gferor-gd gfirar # Aty =0 & sfifeea amrey & favg ag! sfvam! & g feg 91 2maes &t o1 ST 872
Rajendra |
Kulothunga |
g oA
Vijayalaya Chola
oo 9ta
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Rajaraja |

TSR UH

Q.No: 92 | Which specific environmental condition found in waterlogged soils of rice paddies and wetlands directly facilitates the significant
microbial production of methane a potent greenhouse gas?

U1 & Wl R AT 8§ Uy S a1d SaHRa gel § wF-67 ARk gaferein Rf @i dr w dfde, §tos vaa fheee W e, &
AEAYU GaHGiel IUTEA ohl T8 aATd1 &7

Freguent soil tilling

TR-TR h! ST arett fBgT &1 Jars
High levels of dissclved oxygen
ot §U AT o =T &R

Low soil temperatures

= 7T A

naerobic loxygen-depleted) condition

( -ed)

Q.No: 93 Metanil yellow, a non-permitted dye, is often used to adulterate turmeric. Which chemical test can confirm its presence?

Herie e, 51t & ger arurefaien 31 (R-Eiehd 312) 8, 1 IR geal | fHarae & U # JuanT fhar w1ral g1 g&eh Jufedfa it gf® e
T gierr & Y ST Hehdl &2

Adding vinegar and looking for bubbles

EReT (e goigel a1d ol

lcohol and hydrochioric acid test yielding pink colo

&T07 R 7 O
Boiling in water and observing sediment

urHl § 31 UR deree (sediment) &1 Fferor e

Mixing with saltwater and checking for layers

T & uHT H e uRat fi og S

Q.No: 94  Given below are assertion and reason, read the statements and choose the correct option.
Assertion(A): sir Charles Napier justified the annexation of Sindh on moral and legal grounds.
Reason(R): He described it as a "useful humane piece of rascality.”

2 A SR wRor g g &, Syt &t o ok Tt e g1
Y (A): T TTeE ATUER 7 A ofR HrE e i) &y & &g wf 3fEa sgmarn
@RUT (R): I 38 "gFd1 &l Ueh SUGNT AT gahal " STl

Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.
AFHYA (A) 3R FROT (R) SHf T €, TUTR, A T gl THETHIT &
Als true, but R is false.

AT E, Af R T B
A s false, but R is true.

A IE g, Ak R T &1
Both Assertion (A) and Reason (R) are true, and R is not the correct explanation of A,

AN (A) 3R FHROT (R) ST G §, YT R, A &1 el TEHT gl g

Q.No:95  Which river is the main source of water for the Hirakud Dam?

ERIgs =ty & oy g o 919 - T8 §2

Silent Valley National Park

arEvie aelt v 3a

Magarhole National Park
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ARG ALY F&H

Bandipur National Park

TR A 3EH

Q.No: 96  In Kho-Kho, how many players are in a team, and how many are on the field during a game?

@l-at # ek € A bt fEems! gid € ok ©el & & Aa W foha et gid €2

9 players in a team, 9 on the field.

UF &9 1 9 fEest, dem w9 et

2 players in a team, 9 on the field

12 g o 9
12 players in a team, 12 on the field.

e oF 7 12 Fgenst, e ue 12 fEersh

9 players in a team, 12 on the field.

Uk &9 # 9 @S, far w12 f@erndh

Q.No: 97 The Indian Constitution is often described as 'quasi-federal’ or ‘federal in form, unitary in spirit' primarily due to which characteristic?

YRA Sy &t ur: "sred-geig' a1 s d 99y, 9e1 H gards & w0 F aftfa foean sirar 8, g e [[gvar & wror?
The equal representation of states in the Rajya Sabha.

IeHGT | Tredl o1 g9 siaFiaE)

The presence of a written constitution.

fofea dfeams $r suf=fa

trong centralizing tendencies and powers of the Union Government.
TGR chi Aoted 2
The existence of independent judiciary.

T AMUTeieRT &l Aad |

Q.No: 98 | If a country improves in the GGGR due to a policy mandating equal female representation on company boards, which GGGR dimension
would be most directly impacted?

e feredt S it shuit dls # Afgerall & FA ufafAiAE ot JFard w7 areft Hifd & SR GGGR YR 811 &, af GGGR ol @i &1
T T Wfde e 9k or genfaa ghm?

Educational Attainment

fRret mifta

Health and Survival
Wy T e T8

Political Empowerment

NEIG R I EEET |

conomic Participation and Opportunity]

ST TSR] S a8y

QNo:99  MName the Mughal emperar known for promoting Persian art and literature?

T T AT i AT o R el 3fi T1iga &t fasi e were femar?

Humayun

o

BHI

Shah Jahan
ATETET
Akbar
Heha
ahangir

ERIMIE
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Q.No: 100 The concept of "Directive Principles of State Policy (DPSP)" in the Indian Constitution has been borrowed from the Constitution of
which country?

YR ey ¥ "weg & Hifd e fgiat (Sdigadt) " & argemon fg g1 & dfga= 4 Sy o s 872
lralang
BibtG e
United States of America
Y I HHRER
United Kingdom
gARes fhren
Canada
helsl

PART - C (English I.anguage and Comprehension)

Q.No: 101 Select the most appropriate eption to improve the bold part of the sentence.
The price of petrol has increased yesterday.

rose yesterday

ncreased yesterday|

has been increased yesterday

risen yesterday

Q.No: 102 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In a small village, a government school has become an example of clean energy use. The school uses solar panels to run fans, lights,
and even computers. This helps the school save maoney on electricity bills. The saved money is used to buy books and improve
classrooms. The teachers also explain to students how solar energy works and why it is good for the planet. Students learn that solar
power does not cause pollution like coal or petrol. The school has also inspired nearby houses to install solar panels. This change has
made the village cleaner and more aware of the environment. Even on cloudy days, the solar battery stores enough power to keep
the school running. With small steps like this, more schools and homes can help protect nature and build a better future.

What energy source does the school use?

Petral
Wind
ET

Gas

Q.No: 103 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In a small village, a government school has become an example of clean energy use. The school uses solar panels to run fans, lights,
and even computers. This helps the school save money on electricity bills. The saved money is used to buy books and improve
classrooms. The teachers also explain to students how solar energy works and why it is good for the planet. Students learn that solar
power does not cause pollution like coal or petrol. The school has also inspired nearby houses to install solar panels. This change has
made the village cleaner and more aware of the environment. Even on cloudy days, the solar battery stores enough power to keep
the school running. With small steps like this, more schools and homes can help protect nature and build a better future.

What does the school do with saved electricity money?
Build a playground

Buy food

uy books and improve classroom

Hire more teachers
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Q.No: 104 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In a small village, a government school has become an example of clean energy use. The school uses solar panels to run fans, lights,
and even computers. This helps the school save money on electricity bills. The saved money is used to buy books and improve
classrooms. The teachers also explain to students how solar energy works and why it is good for the planet. Students learn that solar
power does not cause pollution like coal or petrol. The school has also inspired nearby houses to install solar panels. This change has
made the village cleaner and more aware of the environment. Even on cloudy days, the solar battery stores enough power to keep
the school running. With small steps like this, more schools and homes can help protect nature and build a better future.

Why is solar energy better than coal?

It is cheaper to burn

t does not cause pollutio

It is easier to store

It is available in bottles

Q.No: 105 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In a small village, a government school has become an example of clean energy use. The school uses solar panels to run fans, lights,
and even computers. This helps the school save money on electricity bills. The saved money is used to buy books and improve
classrooms. The teachers also explain to students how solar energy works and why it is good for the planet. Students learn that solar
power does naot cause pollution like coal or petrol. The school has also inspired nearby houses to install solar panels. This change has
made the village cleaner and more aware of the environment. Even on cloudy days, the solar battery stores enough power to keep
the school running. With small steps like this, more schools and homes can help protect nature and build a better future.

What did the school inspire villagers to do?

Use less water

Buy new uniforms

nstall solar panelg

Visit the school more

Q.No: 106 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In a small village, a government school has become an example of clean energy use. The school uses solar panels to run fans, lights,
and even computers. This helps the school save money on electricity bills. The saved money is used to buy books and improve
classrooms. The teachers also explain to students how solar energy works and why it is good for the planet. Students learn that solar
power does not cause pollution like coal or petrol. The school has also inspired nearby houses to install solar panels. This change has
made the village cleaner and more aware of the environment. Even on cloudy days, the solar battery stores enough power to keep
the school running. With small steps like this, mare schools and homes can help protect nature and build a better future.

What helps the school on cloudy days?

Electricity from the city

Fans from other schools

Teachers’ phones
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Q.No: 107 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
The rise of genetic engineering has redefined what is scientifically possible, but not necessarily what is ethically acceptable. While
gene editing offers hope in treating inherited diseases and improving crop resilience, it also raises profound moral questions. Should
we edit genes to enhance intelligence or physical ability? Where do we draw the line between therapy and enhancement? These
questions remain unsettled. Some argue that altering the human genome for non-medical reasons may lead to a new form of
inequality—where the genetically modified have social advantages over others. Others fear unintended conseguences: once a gene is
changed, its effects may ripple through generations. Science often moves faster than legislation, leaving ethical frameworks lagging
behind. True progress lies not in what we can do, but in what we choose to do responsibly. As with all powerful tools, genetic
engineering demands caution, reflection, and a shared sense of human values.

What is the central concern of the passage?
Costs of gene therapy

Government control of science

thical use of genefic engineerin

Advances in medical devices

Q.No: 108 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
The rise of genetic engineering has redefined what is scientifically possible, but not necessarily what is ethically acceptable. While
gene editing offers hope in treating inherited diseases and improving crop resilience, it also raises profound moral questions. Should
we edit genes to enhance intelligence or physical ability? Where do we draw the line between therapy and enhancement? These
questions remain unsettled. Some argue that altering the human genome for non-medical reasons may lead to a new form of
ineguality—where the genetically modified have social advantages over others. Others fear unintended conseguences: once a gene is
changed, its effects may ripple through generations. Science often moves faster than legislation, leaving ethical frameworks lagging
behind. True progress lies not in what we can do, but in what we choose to do responsibly. As with all powerful tools, genetic
engineering demands caution, reflection, and a shared sense of human values.

What does the author suggest about using genes to enhance traits?
It improves global health

It is encouraged by law

t risks creating ineguality]

It always benefits society

Q.No: 109 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
The rise of genetic engineering has redefined what is scientifically possible, but not necessarily what is ethically acceptable. While
gene editing offers hope in treating inherited diseases and improving crop resilience, it also raises profound moral questions. Should
we edit genes to enhance intelligence or physical ability? Where do we draw the line between therapy and enhancement? These
questions remain unsettled. Some argue that altering the human genome for non-medical reasons may lead to a new form of
inequality—where the genetically modified have social advantages over others. Others fear unintended conseguences: once a gene is
changed, its effects may ripple through generations. Science often moves faster than legislation, leaving ethical frameworks lagging
behind. True progress lies not in what we can do, but in what we choose to do responsibly. As with all powerful tools, genetic
engineering demands caution, reflection, and a shared sense of human values.

Why are ethical frameworks struggling to keep up?
Scientists disagree

Public lacks interest

Laws are faster than research

cience progresses rapid|
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Q.No: 110 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
The rise of genetic engineering has redefined what is scientifically possible, but not necessarily what is ethically acceptable. While
gene editing offers hope in treating inherited diseases and improving crop resilience, it also raises profound moral questions. Should
we edit genes to enhance intelligence or physical ability? Where do we draw the line between therapy and enhancement? These
questiens remain unsettled. Some argue that altering the human genome for non-medical reasons may lead to a new form of
inequality—where the genetically modified have social advantages over others. Others fear unintended conseguences: once a gene is
changed, its effects may ripple through generations. Science often moves faster than legislation, leaving ethical frameworks lagging
behind. True progress lies not in what we can do, but in what we choose to do responsibly. As with all powerful tools, genetic
engineering demands caution, reflection, and a shared sense of human values.

What does the author imply about gene editing’s long-term impact?

It is fully reversible

t can affect future generation

It has no proven results

It only benefits the rich

Q.No: 111 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
The rise of genetic engineering has redefined what is scientifically possible, but not necessarily what is ethically acceptable. While
gene editing offers hope in treating inherited diseases and improving crop resilience, it also raises profound moral questions. Should
we edit genes to enhance intelligence or physical ability? Where do we draw the line between therapy and enhancement? These
guestions remain unsettled. Some argue that altering the human genome for non-medical reasons may lead to a new form of
inequality—where the genetically modified have social advantages over others. Others fear unintended conseguences: once a gene is
changed, its effects may ripple through generations. Science often moves faster than legislation, leaving ethical frameworks lagging
behind. True progress lies not in what we can do, but in what we choose to do responsibly. As with all powerful tools, genetic
engineering demands caution, reflection, and a shared sense of human values.

Which phrase best captures the author's message?
“Edit now, regret later”

“act fast and innovate”

Caution must guide progress

“All science is safe”

Q.No: 112 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Ravi and Arjun had been rivals on the football field since their first year in school. Both were talented players, and their competition
often brought out the best—and sometimes the worst—in them. When the school team was selected for the district championship,
both were chosen to play. At first, their rivalry made teamwork difficult. Passes were missed, tempers (1) and the coach had
to step in. He reminded them that personal pride should never come before the team. Slowly, Ravi and Arjun began to (2) one
another’s strengths instead of focusing on their differences. As trust grew, their coordination improved, and the team’s performance
soared. In the semi-final match, it was a pass from Ravi that helped Arjun score the winning goal. The crowd cheered not just for the

win, but for the sportsmanship. What began as a clash ended in a strong (3)_____ that taught them the value of unity, mutual
(4 andshared (5)____
(1)

Droke

cooled

flared

paused
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Q.No: 113 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Ravi and Arjun had been rivals on the football field since their first year in school. Both were talented players, and their competition
often brought out the best—and sometimes the worst—in them. When the school team was selected for the district championship,
both were chosen to play. At first, their rivalry made teamwork difficult. Passes were missed, tempers (1) and the coach had
to step in. He reminded them that personal pride should never come before the team. Slowly, Ravi and Arjun began to (2) one
another’s strengths instead of focusing on their differences. As trust grew, their coordination improved, and the team’s performance
soared. In the semi-final match, it was a pass from Ravi that helped Arjun score the winning goal. The crowd cheered not just for the

win, but for the sportsmanship. What began as a clash ended in a strong (3)_____ that taught them the value of unity, mutual
(4 andshared (5)____
(2)

ignore

o =

compete

prove

Q.No: 114 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Ravi and Arjun had been rivals on the football field since their first year in school. Both were talented players, and their competition
often brought out the best—and sometimes the worst—in them. When the school team was selected for the district champienship,
both were chosen to play. At first, their rivalry made teamwork difficult. Passes were missed, tempers (1) and the coach had
to step in. He reminded them that personal pride should never come before the team. Slowly, Ravi and Arjun began to (2) one
another's strengths instead of focusing on their differences. As trust grew, their coordination improved, and the team’s performance
soared. In the semi-final match, it was a pass from Ravi that helped Arjun score the winning goal. The crowd cheered not just for the
win, but for the sportsmanship. What began as a clash ended in a strong (3) that taught them the value of unity, mutual

(4 andshared (5)____
(3)

: D

challenge

lesson

match

Q.No: 115 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Ravi and Arjun had been rivals on the football field since their first year in school. Both were talented players, and their competition
often brought out the best—and sometimes the worst—in them. When the school team was selected for the district champienship,
both were chosen to play. At first, their rivalry made teamwork difficult. Passes were missed, tempers (1) and the coach had
to step in. He reminded them that personal pride should never come before the team. Slowly, Ravi and Arjun began to (2) one
another’s strengths instead of focusing on their differences. As trust grew, their coordination improved, and the team’s performance
soared. In the semi-final match, it was a pass from Ravi that helped Arjun score the winning goal. The crowd cheered not just for the
win, but for the sportsmanship. What began as a clash ended in a strong (3) that taught them the value of unity, mutual
(4) and shared (5)

(4)
effort
celebration
Fespect

rivalry
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Q.No: 116 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Ravi and Arjun had been rivals on the football field since their first year in school. Both were talented players, and their competition
often brought out the best—and sometimes the worst—in them. When the school team was selected for the district championship,
both were chosen to play. At first, their rivalry made teamwork difficult. Passes were missed, tempers (1) and the coach had
to step in. He reminded them that personal pride should never come before the team. Slowly, Ravi and Arjun began to (2) one
another’s strengths instead of focusing on their differences. As trust grew, their coordination improved, and the team’s performance
soared. In the semi-final match, it was a pass from Ravi that helped Arjun score the winning goal. The crowd cheered not just for the

win, but for the sportsmanship. What began as a clash ended in a strong (3)_____ that taught them the value of unity, mutual
(4 andshared (5)____
(5)

pressure

fear

T

conflict

Q.No: 117 Select the option that expresses the given sentence in Direct to Indirect Speech,
They said, "How foolish of him to say that!"

They exclaimed how foolish of him to say that.

They exclaimed that it had been very foolish of him to say that.

hey exclaimed that he Is very foolish to say that.

They said it was very foolish of him to say that.

Q.No: 118  Choose the part of the sentence that contains an error:
My elder sister is married with a doctor.

a doctor

No error

My elder sister

Q.No: 119 Choose the correct one-word substitution for:
“A symbol that serves as an emblem of a group of people”

oker)
Totem
Banner

Trophy

Q.No: 120  Choose the correct option to complete the sentence.
The car remained at the red light.

stationerie

stationary]

stationery

stationry
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Q.No: 121 Select the most appropriate eption to fill in the blank.
He is not eligible this post.

with
by

w

Q.No: 122 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split inte four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Human memory is a complex neurological process. P: Short-term memaory stores data temporarily for immediate use. Q: Information
can be transferred to long-term memaory with repetition. R: The brain filters and encodes information efficiently. S: Long-term memory
holds information for an extended period. 6. Understanding memory helps improve learning strategies.

RQPS

PSRQ

PRSQ

Q.No: 123 Select the most appropriate option to improve the bold part of the sentence.
1 wish | am taller.

was taller
would be taller

could be taller

Q.No: 124  Find the incorrect part of the sentence:
The ship drowned in the sea.

in the sea

Mo error

The ship

QNo: 125  Select the synonym of Candid.

Frank

Insincere

Secretive

Q.No: 126  Choose the antonym of ‘scrupulous’:

Principled
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Ethical

Careless

Q.No: 127 | Choose the part of the sentence that contains an error:
She insisted to accompany me.

[0 accompanyl
me
No error

She insisted

Q.No: 128  Select the most appropriate option to fill in the blank.
He was accused ____ theft.

with
by
i

for

QNo: 129 Which of the following sentences is grammatically correct?
When we reached the station, the train have already left.

When we reached the station, the train has already left.

hen we reached the station, the train had already left

When we reached the station, the train already left.

Q.No: 130 | Identify the part containing a grammatical or structural error:
The jury was divided in their opinions.

No error
The jury
was divided

n their opiniong

QNo: 131 Choose the antonym of ‘superficial”;
Shallow
Surface

External

Q.No: 132 Select the most appropriate eption to fill in the blank.
| have no objection ____ your proposal.

for
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of

with

Q.No: 133 Select the option that expresses the given sentence in Direct to Indirect Speech.
He said, "It must be raining outside.”

He said it should be raining outside.

e sald It must be raining outside

He said it might be raining outside.

He said it had to be raining outside.

Q.No: 134 Select the most appropriate eptien te improve the bold part of the sentence.
We waited for him since two hours.

until two hours
from two hours

by two hours

Q.No: 135  Find the incorrect part of the sentence:
He has come yesterday.

yesterday

Mo error

come

Q.No: 136 Select the correct active form of the given sentence.
"The cake had been decaorated by the baker."

The baker decorates the cake.

The baker is decorating the cake.

The baker will decorate the cake.

Q.No: 137 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence,/passage and find the most logical order of the parts between 1 and 6.

Social media influences public opinion. P: Posts can go viral within minutes. Q: It helps in sharing views widely. R: However,
misinformation also spreads fast. S: This can lead to confusion or panic. 6. So, digital literacy is essential today.

PRQS

QPSR

QSRP
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Q.No: 138 | Select the correct active form.
"Has the file been uploaded by you?"

Did you upload the file?
Had you uploaded the file?

Are you uploading the file?

ave you uploaded the file?

Q.No: 139 | Choose the correct option to complete the sentence.
The carpenter replaced the broken _____ in the window.

plain

peyn

pain

Q.No: 140  Choose the one which can be substituted for the given sentence.
A short amusing story

Chronicle
Epistle

Essay

Q.No: 141 Choose the correct indirect speech form of the following sentence.
Rohan said to Manasi, "1 have no rose to give you now."

Rohan told Manasi that he has no rose to give her then.

ohan told Manasi that he had no rose to give her then
Rohan told Manasi that he had had no rose to give her then.

Rohan told Manasi that he had no rose to give her now.

QNo: 142 | Arrange the sentence parts:
(&) my mother (B) bought {C) a beautiful saree (D) yesterday

CBAD
ACBD

BACD

Q.No: 143 Choose the antonym of ‘approve’:

Reject
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Sanction

Endorse

Certify

Q.No: 144 Select the option that expresses the given sentence in Direct Speech,
She said that she had never encountered such behavior.

She said, "I never encounter such behavior."

he said, "| have never encountered such behavior.
She said, "I was never encountering such behavior."”

She said, “I had never encountered such behavior.”

Q.No: 145 Select the correct passive form of the given sentence.
"She cleaned the house yesterday."

The house was being cleaned.

The house has cleaned.

The house is cleaned by her yesterday.

he house was cleaned by her yesterda

Q.No: 146 Select the most appropriate eption to fill in the blank.
Ramesh is seniar me in service.

i
from
of

with

Q.No: 147  Rearrange the parts of the sentence in the correct order.

Postcolonial literature

P. interrogates historical narratives,
Q. while reclaiming suppressed voices
R. and offers alternative perspectives
S. rooted in indigenous experience,

PSRQ
RSPQ

QRSP

Q.No: 148 Choose the correct sequence to form a meaningful sentence:
(A) opened (B) slowly (C) the door (D) he

DABC

DAL

BACD
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DCAB

Q.No: 149 Select the most appropriate eption te improve the bold part of the sentence.
The wall is decorated by posters.

full of posters

painted in posters

ecorated with poster

covered in posters

Q.No: 150 | Select the most appropriate homonym.
This case calls for immediate action.

Legal matter

Suitcase

Scenario

Q.No: 151  What does the idiom ‘Throw in the towel” mean?
Boast

Glve LDk

Work harder

Start afresh

Q.No: 152 | The figure of speech used in "I wandered lonely as a cloud..."?
Hyperbole
Simile

Metaphor

Q.No: 153 What does the idiom “Jump the gun’' mean?
Succeed quickly

Act prematurely]

Wait patiently

Fire a gun

Q.No: 154  Select the antonym of 'Arraign’.
Justify

Gluttonous

Hungry
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Selfish

Q.No: 155  What does the idiom ‘To beat a dead horse’ mean?
Be overconfident

Win a competition

Encourage others

aste fime on a hopeless issu

Q.No: 156  Choose the antonym of ‘liberation”:
Captvin

Independence

Emancipation

Freedom

QNo: 157 | Select the most appropriate option to fill in the blank.
The editor dispensed unnecessary details.

of

Q.No: 158  Choose the correct direct speech form of the following sentence.

He exclaimed that the flower was looking very beautiful, which was placed in the vase.
He said, "How beautiful the flower is looking, which is placed in the vase!"
He said, "What beautiful the flower is looking which was placed in the vase!"

He said, "Which beautiful the flower was loaking which is placed in the vase!"

e said, ™he flower is looking ve beautiful, which is placed in the vase!

Q.No: 159 | Select the correct spelling of a word word related to bees.
oI
Apiery
Apairy

Apeary

Q.No: 160  Select the most appropriate option to fill in the blank.
| am not interested ___ politics.

on
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at

of

Q.No: 161 | Choose the one which can be substituted for the given sentence.
The act of killing one’s brother

Suicide
Patricide

Homicide

QNo: 162 | Choose the one which can be substituted for the given sentence.
An official pardon for offenders

Absolution

Amnesty

Clemency

QNo: 163 Choose the antonym of ‘ascend’:
Rise
Soar

Climb

Q.No: 164 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — B, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Plants need sunlight to grow. P: Photosynthesis needs light. Q: No food is made without it. R: Leaves turn yellow without it. 5: The
plant dies PSQRslowly. 6. Sunlight is very important.

SPQR
PSQR
e

SQPR

Q.No: 165 | Choose the one which can be substituted for the given sentence.
A man whose wife is dead

yIdower
Bachelar
Heir

Divorcee
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QNo: 166  Select the synonym of Exquisite.

Crude

Harsh

g L

o)

Ordinary

Q.No: 167  Which of these words is spelled wrongly?
Resplendent

Idiosyncracy

Dichotomy

Vernacular

Q.No: 168 Select the option that expresses the given sentence in Direct to Indirect Speech.
He said to me, "Where are you going?"

He asked me where | had gone.
He asked me where | am going.

He asked me where I go.

e asked me where | was goin

Q.No: 169 Find the misspelt word.
Idiosyncracy

incredible

QlosYNCrasy

guidance

QNo: 170 | Choose the part of the sentence that contains an error:
He is living in Chennai since five years.

No error
He is living
kince five yeary

in Chennai

Q.No: 171 Choose the correct option to complete the sentence.
She gave me a nice on my new haircut.

complement

complimente

compleement

Ompliment
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Q.No: 172 Choose the correct direct speech form of the following sentence.
Rina told Suman fo leave the city immediately.
Rina said to Suman, "Leave the city immediately now."

Rina said to Suman, "Please leave the city immediately."

ina said to Suman, ' Leave the city immediately.

Rina said to Suman, "You leave the city immediately."

Q.No: 173 Select the correct active form.
"By whom is this rule obeyed?"

Who is obeying this rule?

Who does obey this rule?

ho obeys this rule:

Who has obeyed this rule?

Q.No: 174  Select the most appropriate homonym.
He gave her a cold shoulder at the party.

Apology
Embrace

Complaint

Q.No: 175  Choose the correctly spelt word:

Supirsede

Supersede

Suppercede

Q.No: 176 Pick the synonym of 'Frivolous'.

Powerful
Essential

Significant

Q.No: 177 | Convert the sentence provided below from its passive voice structure to an active voice structure:
The documents are signed by the directer before submission.

The documents are being signed by the director before submission.

he director signs the documenis before submission
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The director has signed the documents before submission.

The director signed the documents before submission.

Q.No: 178 Select the most appropriate eption to fill in the blank.
He was deprived ____ his rights.

with

of

by

Q.No: 179 Select the correct passive form of the given sentence.
"They ought to have completed the task."

The task ought have completed.

The task ought be completed.

he task ought to have been completed

The task ought to completed.

Q.No: 180 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order, Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The evolution of language is deeply linked to human history. P: Early humans used symbols to convey meaning. Q: Writing systems
emerged thousands of years later. R: Spoken language likely developed alongside tool use. S: Over time, languages diversified across
regions. 6. Today, language continues to evalve with technology.

QRSP

SGE

RPSQ

PRSQ

Q.No: 181  Choose the correct indirect speech form of the following sentence.
He said, "Will you finish your task on time?"

He asked me if | should finish my task on time?

He asked me if | should have finished my task on time.

e asked me IT | should finish my task on time

He asked me if I should finish his task on time.

Q.No: 182  Select the most appropriate option to improve the bold part of the sentence.
Had | known about the delay, | will wait.

would have waited
will have waited

would waited
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waited

Q.No: 183 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

A compass is an important tool in navigation. P: It always points towards the magnetic north. Q: Even in cloudy weather, it shows
direction. R: It does not depend on GPS or electricity. S: Hikers and sailors rely on it during travel. 6. Thus, it remains a reliable tool
even today.

PQRS
PRSQ

RQPS

Q.No: 184  Select the most appropriate option to improve the bold part of the sentence.
She said me the truth.

told mel

said to me

says me

spoke to me

Q.No: 185  Select the synonym of Taciturn.

Bald

Talkative

Noisy

Q.No: 186 | ldentify the part containing a grammatical or structural error:
Hardly had he left the room when the guests have arrived.

Hardly had he

Mo error

left the room

hen the guests have arrive

QNo: 187 What does the idiom *Cry wolf’ mean?

Be truthful

Lie unnecessarily

Help others

Q.No: 188 | Select the correct active form of the given sentence.
"The house was painted by them last month."
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They paint the house last month.

They have painted the house last month.

They were painting the house last month.

hey palnted the house last month

Q.No: 189 | Transform the following sentence into active voice:
Let the mobile be charged.

One must charge the mobile.

Someone should charge the maobile.

Will you charge the mobile?

Q.No: 190  Select the option that expresses the given sentence in Direct to Indirect Speech.
she said, "Has he left already?"

She asked if he had left already.

She asked had he left already.

he asked whether had he left alread

She said if he had left already.

Q.No: 191  Choose the one which can be substituted for the given sentence.
A partner in crime

Rival

ACCOMpPIICE

Patriot

Ally

QNo: 192 Which of the following sentences is grammatically correct?
He went to college in a train.

He went to college with a train.

e went to college by a train

He went to college on a train.

Q.No: 193 Arrange the sentence parts:
(&) to the office (B) reached (C) Mr. Sharma (D) at 9 am

CABD

CDBA

DCAB
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Q.No: 194  Select the most appropriate option to improve the bold part of the sentence.
He is living here since 2020.

He is staying here since 2020,

e has been living here since 2020

He lives here since 2020.

He is here since 2020.

Q.No: 195 | Select the most appropriate option to fill in the blank.
There is ___ apple on the table.

[st] [=]
=
3]

the

Q.No: 196  The meaning of the Idiom 'Make a clean breast of' is to:

Argue

Confess

Whisper

Q.No: 197 | Find the incorrect part of the sentence:
Mo less than fifty students were absent.

No error
were absent
fifty students

Mo [ecs thar

Q.No: 198 Select the correct passive form of the given sentence.
"They have discussed the issue already."

The issue was discussed by them.

he issue has been discussed already by them
The issue discusses by them.

The issue had been discussed.

QNo: 199  Select the synonym of Vicinity.
Absence

Proximity

Distance

Departure
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Q.No:200  Find the incorrect part of the sentence:
The old man fell down from the stairs.

Mo error
from the stairs

The old man
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